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~ The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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1. Choose the correct answer for the following
questions : ' 1x10=10

oo Al ePART @ﬁ@@aﬁtaﬁ&@ﬁw 3

(@) The minimum number of members in
a private company is

a5t YFES @S TR TT WYl
6 2/3 e

(i) 4/8

(ii) 6/
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(b) Which one of the following documents

o

is required to be filed with the Registrar
of Companies at the- time of
incorporation of a public company ?

Feredl (i @B eaa=em e Acere

| I R IR AT ebes Aifde FRT

Al 2

(i) Articles 6f Association

e R

(i) Memorandurn of Association

R

(iii} Prospectus
DA

(iv) All of the above: |
G ASEANEE

The maximum number of companies
in which a person may hold the office
of director at the same time is

«ﬂ%ﬂmﬁmmﬂwwmfismm

<f[Rq == @T"’ﬁa S S
W 8/

(i) 10/%0
(i) -15/5¢

(iv) 20/30
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(d) The remuneration of first auditor of a
company is fixed by the

aﬁ@wﬁaﬁwﬁmﬁﬁ%mmﬁaﬁﬁ |
S '

(i) Board of Difectors
Tl oA
(i) Mariagiﬁg Dircctor :
iR e
(i) Company Secretary
(>IN AR
(iv) All of the above
G AR

(e) In wh1ch year was ‘The Dep031tory Act’
' passed ? '

R TS TR LRSS tifim.l
() 1966/5v0v

i) 1976/55%

(i) 1986/55vs

(iv) 1é96/’mm
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() ‘A Director cannot be reappointed.
o AEEES Fve WE 1 cm?nﬁl
(i) Correct
K]

| ‘{ii) Incorrect
‘ T
| (9) The office of the Registrar of Companies
; is not a public office.
5
|
|

A A P b e

e 777 |
(i) Correct
k]

(i) Incorrect
ek

| . (h) A person can 1ncorporate only one ‘One
Person Company’.

qE FIE WG GOl ‘9. @T“vnﬁi
Ao iR =i

(i) Correct
o

(ii) Incorrect
| 5 R
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()  Articles of Association can be altered
by passing a special resolution.

5 WW%@@W@W@W
7 AR

() Correct
&

(ii) Incorrect
i

() Dividend cannot be paid out of capital. '
TR o TN e R IR
(i) Correct
K
(i) Incorrect
IR

2. Answer the following questions : = 2x5=10

ﬁm@m%@ms
(a) Wr1te the names of four statutory
companies.

oAy i oI T B
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(b) What is prospectus ?
SERINIE FIF @I ?

(c) Write two differences between
Memorandum of Association and
; Articles of Association.

Tl o oot FRARER TeS 757
. ol fowt |

(d) What is special resolution ?
oo awR I @i e

"(e) Who can be appointed as auditor of a
company ?
=T @BR Rpist ST ﬁﬁl‘?{ I FgfE
= iR -

3. Answer the following qﬁestions in about

200 words each : (any four) . 5%4=20

YfSls! {00 TN *u1 fooss Frsre enhes Beq
,ﬁw:(ﬁmmwﬁﬁ‘r) ;

: (a) Write the differences between private
company and pubhc company.

JEHS @F=AN T I m“vnﬁﬁam@r
A ANLFER Fidl |
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(b) Write the differences between transfer
and transmission of shares.

9 TBITT S SN (2RO WS 49
AR =2

(<) ‘Briefly state the main provisions
regarding the annual general meeting
of a company. '

AT B AR et TS TS et
R o9t a9 <)

(d) Briefly state the various types of
dividend. LR
Rien s seieR Raw oy R =10
(e) Br_.ief*ly state the advantages of
- depository.
To' Terb=17 RATIE G 901 341 |
(/) Explain the features of depbsitory

system. Also write the names of fwo
depositories functioning in India.
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4. Answer the following questions in about

600 words each : 10x4=40
2fST5! 2t Bee woo Wi *I¥4 fowws Rixe ammzs
ey Tt s g

y - (a) What is company ? State the

7 - characteristics of a company.

| <L 2+8=10
i e c¢vwﬁﬁam$cmwﬂvcﬂﬁmﬁTdmatﬂﬁﬁwmﬁ
- el

OR [ @24}

State the various stagés involved in the
. process of formation of a compény.
10
T <R 15 efira Tie wive R
TETZ 9 4 |
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(b). Discuss the procedures of alteration of
(i) Name clause, and (1i) Object clause
of Memorandum of Association.

_ l 7+3=10
TRIACR (i) AN 7w, A (i) Sy W
SlfSagT PREANTRR el 901

(c)

OR ]/ Gg<)

- What is forfeiture of shares ? State the

procedures of forfeiture of shares. Also
state the effects of forfeiture of shares.
2+4+4=10

Y FHAEFI BT (@I 2 AT
 ACTANGFIR PIAAATPTR I 91| FoIco

9 QACSTAGTIR ARAPERLE 3901 S|

What is the' meaning of Director’ and
‘Board -of Directors’? .Discuss the
different types of director of a company
on the. basis of provisions of the
Companies Act, 2013. = - 2+8=10
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bR GRIAIT iR ReTes oo, fofs o
@R @B [Rfen oo AwrE ﬁm
SICEbA 4 |

OR [ &2<Y

State the funétions of the different

.committees required to be formed by

the Board of Directors of a ‘company.
10

@ﬁ“ﬂfﬁ&ﬂﬁﬁ HALETT ARTW A5 dRIT
Rfen ez etz 396 w1

(d) - What is dividend ? State the steitutory
‘ " provisions relating to declaration of
dividend by a company. 2+8=10

TSI I @ITE 2 (P GBI TS0 (qiRelia

" W—mﬁsﬁaaﬁﬂmm?m— ﬁ&nﬂmga«ﬁi
el '

OR / w23y

State the éircumstances under which
a company may be wound up by the
Natlonal Compariy Law Tribunal.

10
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